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aO-F i X £ T 3K % = it
001 | T & H Hr 509 564 664 1,228
002 | & K HI 604 701 760 1,461
003| £ &= H H 357 373 338 711
004 | & %  H 1,002 1,199 1,118 2,317
005 | X 33 T 744 912 955 1,867
006 | = & F B 1,330 1,804 1,699 3,503
007 | #i i T 181 259 212 471
008 | 5 4 Hr 847 1,008 1,114 2,122
009 [ K f& H 562 767 760 1,527
010 | & H i) 985 1,301 1,402 2,703
011 | £ & F Hr 657 819 847 1,666
012 | &  H 864 1,114 1,280 2,394
013 | 8k H i) 563 737 843 1,580
04| & ® H 881 1,108 1,175 2,283
015 | # B  H 121 164 183 347
061 | XEE—TH 52 53 21 74
062 | XFEHEZTBH 221 192 190 382
063| XEHE=TH 6 27 52 79
064 | XEHEMWTH 110 111 156 267
071 | &£%HAH—TH 37 29 42 71
072 | £FHFABIZTH 271 287 241 528

A

oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 [ A BT Z T H 25 975 37 612
083 | A BT = T H 168 194 214 408
091 | QLB —TH 84 84 112 196
092 | BT —TH 93 170 356 526
101 | P ET—TH 122 116 127 243
111 | FEHE—TH 115 113 126 239
112 | FSHEZTH 92 71 85 156
113 | FEHE=TH 138 131 136 267
114 | FHEHEMTH 89 97 106 203
115 | FEHEATH 142 109 161 270
116 | EFSHHEIATH 147 135 153 288
117 | FLHHEETH 140 144 174 318
118 | EF&HHE/NTH 135 137 158 295
121 | EBFHE—TH 84 85 84 169
122 | EBFHIZTH 95 56 61 117
123 | EBFHI=TH 79 83 97 180
124 | EBFHIUTHE 77 74 68 142
125 | ERFHEATH 102 105 121 226
126 | EBFHEIATHE 152 123 147 270
127 | EBFHETH 145 102 167 269

a &t 13,088 16,233 16,742 32,975




